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H OH A 1 2 3 4 5 6 7 8 9 10 11 12 M
A |H1/3 (m) 5.73 5.43 4,40 4. 85 3. 88 2.60 2.07 4,15 3.49 6.10 4,12 3.08 6.10
KA 5
¥ T1/3 (s) 9.6 9.1 8.1 10.1 8.4 8.8 8.1 9.1 9.0 10.2 7.8 7.3 10.2
o (B-B) 31- 6 20-12 14- 8 25-20 28-18 24-20 24-16 31-10 19-22 8- 8 14-12 12-0 | 10- 8- 8
N A | HMAX (m) 8.94 8.32 6.63 8.35 6.21 4. 49 3. 24 6.91 5.71 8.93 6. 87 4.99 8.93
S IS I e I 1=
B | TMAX (s) 9.9 8.2 8.8 9.5 7.5 8.6 6.7 9.1 9.3 10. 6 6.8 7.5 10. 6
H1/3| ¥ ¥ & 1.68 1.68 1.70 1.37 1.30 1.12 1.17 1.38 1.53 1.50 1.53 1.53 1. 46
NS ORCE: = —
(m) | HEHE(R = 0.58 0.72 0.61 0. 66 0.63 0.39 0.34 0.56 0. 49 0.76 0. 56 0.55 0.61
T1/3| ¢ ¥ & 7.2 7.0 7.5 7.7 6.8 6.7 6.5 7.6 7.7 7.7 7.6 7.0 7.2
TEYE(R 22
(s) | EHHE 1.42 1.17 1.40 1. 20 1.01 1.11 1. 06 1.49 1.21 1.25 1.17 1.14 1. 30
b= S <1 (%) 100.00 | 100.00 | 100.00 | 100.00 | 100.00 | 100.00 | 100.00 | 100.00 | 100.00 98.93 | 100.00 | 100.00 99. 91
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